fq NOTES: Chapter 2

function: each element of the domain 1s
paired with only one element 1n the range.
(Use vertical line test to verify.)

f(x) = function notation...read as “f of x”
Q£ f.'lif' at X??



EXAMPLE #1

2 1
G1ven: — o
ven: g(x) §® y
a. What is g(3)?  b. What is g(x+3)?
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EXAMPLE #2: PIECEWISE FUNCTION

x>-3 ifx<l
fy=4° "7 BES
k4X if x>1

a. f(3)= H(2) b.f(-2)=-)->
=12 = -3

=[]



Reminder: set notation

*CETS = union (all terms combined)

M = 1ntersection (common terms only)

K < —
INTERVALS [2,7) 2<x<7 St~

(-3,0) -3<x<o0 O
< =
or x> -3 o

V




Reminder: Domain

Radical expressions: (EVEN ROOTS ONLY!)
If given \/x -2 then solve x>0

Fractional expressions:

If given % —> then solve x # 0



7 Example #3

, \/v {x Z% State the domain. _

Show work and use

a. f(x) =V2x =3 interval notation for
A x; = O your final answer !
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b. g(x) =




Notes: Transformations of Functions

R X
{:‘Zecf ov, S\\.\“ )Y
/s /ol |\ f
S 2 k N
f(x)=—a(x—h)"+k= ,¢°
1 < |
0. oo Shify
I OF ; eft
C,\ Q‘G gl)f
QO(O (x — 3) =2 shift right 3

Vertex = (h, k)

(x + 3) =2 shift left 3

Note: move opposite of sign
given inside parentheses




NOTES Operations/Composition of Functions

fx) + g(x)
A8
& u\ﬁp\Yl o
fix) o glX) or (feg)(x) compare to > (fog)(x) or f(g(x)
Composition
) o [f](x) €f)x) or g()
g(x) g
.
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Examples: Given 2 f(x)=3x2—-4  g(x)=4x+5

multipl //\\
3. f(X).g(gi) - <?>\( wc))
=20 + 15y’ —lex—2D e
4. (Fog)x) = ”f@
oSG = ADe) 1
hMrJr‘ &t\o&_\r lrd‘g 5(U°X *‘L’OY—PZ/7) q
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Examples: Given 2 f(x)=3x2—-4  g(x)=4x+5

5. (goH)(x) d 0 2)(xX) V/

g 0
start :HGXL-%) S sl =Y <Hw5>%c)

SV = (by+t20t5

oy -Gem




To solve for the inverse algebraically:
“swap x and y values in the given equation.,
then solve the equation for y (rewrite i y-form.)

example: f(x)= 4
13+x

. 4

rewrite: y =

13+x

. 4

swap domain and range: X = 3

Ty

now solve fory



4

swap domain and range: X =

134y
now solve for
g (13 +y)x = . (13+y)
(13+y)
(13+y)x=4
) 4
Biy=2 £ (x)=—~13
< X
4 domain: x #0
y=—-—13

X
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